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Token Example Informal description
unsigned integer | 1,5125,315,.. all sequences of digits
signed integer +6, -152, . .. all sequences of digits starting with + or -

decimal number

10.151, 3.1415, 0.0001, ...

includes a decimal point and at least one
digit to the left and right of the point .
Possibly starts with + or -

scientific number

10e-01, 43.21e+10, 21el0.,. ..

a decimal number or a (signed, unsigned)
integer followed by e and a signed or un-
signed integer.

Name ab12, key, ch153, counter, . . . starts with a letter.

String 1a512, 614, 12df as0, 0O1basdf starts with a digit but contains also other
letters (and is not a scientific number)

relation <or>or=or<=or>=or!=

Punctuation L1{43H0) 5

mark

Reserved word If, int, float, while, for,main

unknown any other character (errors)
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typedef struct {

double num;
int line_num;
} num_record;

num_record num_table[MAX_COUNT];

double sum =0;
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Example:
12.3 local 21fa43
33.5e+3 x<=name (
-44  +1520 a=3if
/
should be processed as:
12.3, linel, decimal number
local, linel, name
21fa43, linel, string
33.5e+3, line2, scientific number
X, line2, name
<=, line2, relation
name, line2, name
(, line2, punctuation mark
-44, line3, signed integer
+1520, line3, signed integer
a, line3, name
=, line3, relation
3, line3, unsigned integer
If, line3, reserved word
/,line4, error

5 numbers found.
SUM = 34991.300000

Contents of Number Table

L1 12.300000

L2 33500.000000
L3 -44.000000
L3 1520.000000
L3 3.000000
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